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QUESTION 1

Which types of relationships can a work cover and its covered items have? (Choose two.) 

A. One-to-One 

B. One-to-Many 

C. Many-to-One 

D. Many-to-Many 

Correct Answer: AB 

 

QUESTION 2

Review the following screen shot: 

In the Miscellaneous Items section, the user can enter several items (name/value pairs). Which type of property is used
to display the list of items? 

A. Page 

B. Page List 

C. Single Value 

D. Value List 

Correct Answer: B 

 

 

QUESTION 3

PRPC best practices dictate that when the number of covered objects under a work cover exceeds a certain number, a
folder should be considered to manage this collection. 
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What is the number? 

A. 5 

B. 10 

C. 20 

D. 50 

Correct Answer: C 

 

 

QUESTION 4

Which of the following flow shapes are valid alternatives to implementing cover processing? (Choose two.) 

A. Split-Join 

B. Split-ForEach 

C. Assignment 

D. Ticket 

Correct Answer: AB 

 

 

QUESTION 5

Select two statements from the following list which are true concerning work pools. (Choose two.) 

A. They directly correspond to class groups 

B. A user may have access to no more than ten work pools 

C. A user\\'s default work pool is established in the user\\'s access group 

D. They are created by Work Pool rules 

Correct Answer: AC 
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